fyra brak, decimaler, ordningsfoljd

namn: Datum: Poéng:
—8><51*4—5><1— 58—1><2—2—

s : 2 s 3

1 1 1
4.7+ - —2x — = 4,1 —=-—2x58=
2 2 2 9 3 b
1 3 1 2 3
- = —+2- == 2,4+ = + —+~3=
3707372755 At XoHIxgE3
1 1 2 1
-+1 -5+ == —4 +4x-=+2=
3 0><4 5 5><5 3,8—4,5%3 ><2
3 1 3
S+ ox2-4x5+2= 4,9+10%4,9+5-5%x = =
4 2 ’ ’ 4
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m % s @ Q fyra brak, decimaler, ordningsfoljd

namn:

Datum: Poéng:

1 1 25 1 1 47
——8x51+4-5x=-=(——)=(—12= 58 == x2-2=—=3—
5 ’ 2 (2) ( 2) ’ 3 15 15

1 I 21 1 47 5
4,7+ = —2%x == — =4- 4,1 -=—-2x58=(-—)=(7-=
TH=—2x 5= =4 , 8=(2)=(72)

3 1 23 3 31 1
S —6XZE2-5x—=(-2)=(2= 2,4+Zx5+9x 2 +3=""= 6=

5 6 (10) ( 10) ’ 5

1 1 2 8 2 1 87 7
L l0x - +545x2=2 =" —4 tdx ===y (gL
g P10 g TSN s =373 3,874,535 %343 TR,
301 3 1 3219 19
D X2 —4x 5+ = (-2 = (-8 49+410%x49+5-5x2 =22 — 10—
Tty x24xS )= (8 9+10%4,9+5-5x 2 = 2= =10
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